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The following table shows the cumulative percentage distribution of the total number of visitors
to Kullu and Manali together and cumulative number of visitors to Kullu on five different days,
that is Monday to Friday. Based on the data in the table, answer the questions.

Day-wise Distribution of visitors
Dav Cpmula‘rix‘e percentage of iL(l‘urnulztti'\'e number of Visitorg
Visttors to Kullu and Manalifto Kullu

Monday 15% 360

Till Tuesday  p0% 1060

Till Wednesday[70% 1340

Till Thursday  [80% 1700

Till Friday ~ [L00% 1960)

Note: Total number of visitor to Kullu and Manali together in all five days is 4000
Sub questions
Question Number : 1 Question Id : 34212314838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The total number of visitors to Manali on Monday and Wednesday is % of the number
of visitors to Kullu on Wednesday.

1.200

4.50

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212314839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average number of visitors to Manali on all the days except Monday?

1. 560

1]
e
i}
=

4. 450
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212314840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If 20% of the visitors to Kullu on Tuesday are foreigners and 40% of the visitors to Manali on
Friday are foreigners, then what is the total number of visitors to Kullu on Tuesday who are not
foreigners and to Manali on Friday who are foreigners?

1.920
2.776
3.984

4. 344
Options:
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212314841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The average number of visitors to Kullu on Monday and Thursday is % less than the
number of visitors to Manali on Wednesday.

13329
2.63.89
3.67.44
4.50.28

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212314842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of visitors to Manali on Wednesday to the number of visitors to
Kullu on Thursday?

1%)

2.43

4.34

Options :
1.1
2.2
3.3
4.4

Question Id : 34212314837 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Till Tuesday  p0% 1060
Till Wednesday|70% 1340
Till Thursday  [80% 1700
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Sub questions

Question Number : 1 Question Id : 34212314838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TIUGR 3R R Pl Heflcil & T &I el G §HdR Pl Gog b T ol GBI 6l
{1 Wi g7

1.200
2. 150
3.125

4.50
Options:
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212314839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AR Bl BISHR G el H 71l & Ted! $f Sigd T fdhdHi g2

1. 560
2.520
3.490
4. 450

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212314840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e TR 1 ee] o 20% T fa¢eit § T TR Bl THTelt d 40% Thed faei g,
TR P! e d d T fesil g1 ¢ 7u1 LhaR &1 THTelt o 4 Wed ol faeeil g, Bl
Gl U fobedl 2

1.920
2.776
3.984

4. 844

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212314841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YR 71 TR @l Hecl & THCh! B 310 S §HaR &1 TNl & Ted] &l §e @l
e fde TIaerd (%) BH 2

1.53.29
2.63.89
3.67.44

4.50.28
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212314842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%mﬂaﬁrmﬁﬂ%wﬁmaﬂmﬁm%Wﬁ@wﬁww

1962
2.43
3.2:9

4.34
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123583
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212314843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of learner centered Approach?

A. It lays emphasis on skills

B. It is centered on learner's needs

C. It 1s centered on cooperative determination of subject matter
D. Lays emphasis on variability of exposure

Choose the most appropriate answer from the options given below:

1. Cand D only
2. A, Band C only
3.A.B.Cand D

4. B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212314843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S Il bi<d SUNH DI fa=ivdrt Fgfafad 9 &1 9 g2

A T BN R IASdl g

B. 48 MU THGC & ATaRUGdI3 IR dBid gidi g

C. Ug 99T Aridl & YedRI YR R Si<d 8idl o
D. U8 3191 &1 URAd-=Ndd R §d odl g

I feu U 9 el § U T 3R &1 994 DIfSIU:
|.®Hadd C 3R D
HddA. B3R C

(o

A,B.C3RD
4. Had B AR D

Options :

[



1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212314844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a free and Open-source content collaboration framework based on
Javascript that enables existing CMSs and LMSs to create richer content?

|. H5P
2. Plotagon

3. Mindmeister

4. Labster

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212314844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

779 1 g offa fpp R 3R 98 B 91 e 9 e A 9] UgHR hodah § ol
AT Y1 0 T 31X U O 0 1 3Hfeleh T ferg- o ot Tl el T e aTer 82

1. H5P

. TN
3. HgSHERA

4, TR

Options :
1.1
2.2
3.3
4.4




Question Number : 8 Question Id : 34212314845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A child of first class is trying to learn how to draw a circle on his own but is able to do with the
help of his/her teacher. In the light of Vygotsky's theory, it highlights?

. Assimilation
2. Adoption
3. Zone of proximal development

4, Maturation

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212314845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGS 8T 1 U a1 T TR G &7 bl T X g ¢ o] oI 18086 1 g
T e o U7l | faTan! o gl o aireileh 0 fobl i el 2

1. THTHRT

R DORL
3. PR fapm &7
4. URUEA

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212314846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Project method of teaching was first propounded by.

1. Crow and Crow

(i)

. John Dewey

(el

. Robert Miller
4. Robert Mager

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212314846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fRreror 1 ufvarsn fafer &1 fdured gduyA fogr fear ur
1. ST 3R oI

ol f&dt

3. ¢ fHeR

4. 3¢ UIR

Options :
1.1
2.2
3.3
4.4

(g

Question Number : 10 Question Id : 34212314847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SWAYAM is a programme initiated by.

|. Government of India

(i)

. National Council of Education Research and Training
3. University Grants commission
4. Indira Gandhi National Open University

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212314847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y (SWAYAM) foh &b gRT SR fohdl 781 Ueh HrihH 62
1. HRd TP

3. fayfaenery o ar 2T

4. ey riel ¥y Had fayfaemey

Options :
1.1
2.2
3.3
4.4

(g

Question Number : 11 Question Id : 34212314848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If a conclusion incorporates a casual relationship between two or more variables it has measured.

. External validity
2. Internal validity
3. Replicability

4. Conceptualisation

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212314848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i U IS &1 47 34fefe TR o i BRUNED Yeit] bl GAIAY Bl g ol G fehpT
YA X o g2

1. TR dYel
2. AR defaT
3. GRIgheid (Rteidsfafed)

4. AGYRUDRT
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212314849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



An instrument used in structured observation that mentions the categories of behaviour to be
observed is known as.

1. Category schedule
2. Observation device
3. Observation schedule

4. Ontological tool

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212314849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR Viefor & We gi-aTel 39 T Pl b 0 H o1 fel 8, S Uied fobt o ared
FER & q bl Jwhg HRell g7

CUEENEER)
2. D& e (f3arey)
3. VIefuT gt

1, TAHA® SIS ()

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212314850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Response of participants who are well aware of the fact that they are being studied is considered
as.

. Directed response
2. Intentional response
3. Desire effect

4. Reactive effect

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212314850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I WiMITT 1 Sfeha bl ol AT el €, ol 29 e Y Ui § b e IR o ofege
FRIEIRSE,

1. FG TR i
» IR o

3, qifad UHE
4. i TTeHE I

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212314851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are different tvpes of ethnography?

A. Classical ethnography

B. Mainstream ethnography
C. Post-modern ethnography
D. Private ethnography

E. Expressive ethnography

Choose the correct answer from the options given below:

1. A, B and C only

(]

.B. C and D only
3.C.D and E only
4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212314851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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D. Al Td JId-au=
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Had B, C 3R D

P C,D3RE
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Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212314852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qualitative research makes use of.

1. Scaling

. Factoring

3

L

. Representative quotations

4. SPSS
Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212314852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UIEIURD 2N [HHepT ST Pl 82
1. 3FHIY (T i)
PR (G0 (Ha )

[

3. UfdMs IS0

4, T U THTY

Options :
1.1
2.2
3.3
4.4



Question Number : 16 Question Id : 34212314853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In ancient times, the oral communication system operated in an environment that was.

|. Literate
2. Urban

3. non-representative

4. Mediated
Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212314853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ui i | fdhd arrarl H HiRad GRISo Yollel &l GREferd faal STl 41

1. Y&

2. TR

3. 7R - faffed
4. H1eAd (HIfSTCS)

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212314854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Any study of messages at the recelvers stage is known as.

1. Communicator analysis

(i)

. Message analysis

(el

. Noise analysis
4. Audience analysis

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212314854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ui & IR0 IR Yo & fardl 4T e &l {69 =0 H S Sl 82
1. GRS [a%eu

2. Gaxl fazeyu
3. QIR fa=emor (Higs THIfeiE)
4. TR (3TSTY) fazemur

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212314855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are main functions of mass communication?

A. Detachment of individual from society

B. Indulge in message creation without worrying about moral consequences
C. Surveillance of environment

D. Transmission of social heritage

E. Correlating the parts of society in response to environment

Choose the correct answer from the options given below:
1. A, Band C only
2.C.Dand E only
3.A.Band D only
4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212314855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad 0 9 S 99 GdR & I3 TR g2

A. Il & GHN Y SHRTGT

B. Afdd URUMH & IR H a1 U fa=1 Y= 9dH  ford g
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1.hdd A, B AR C

HAdC, D RE

. Hdd A, B3R D

4. HIAA. D 3ARE

(]

LS



Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212314856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For preservation of their power the ruling elites seek from media channels.

1. Societal intelligence
2. Entrepreneurial partnership
3. Digital technology diffusion

4. Voices of dissent
Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212314856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS Bl 30! Al & TR0 g At aHal U 8 & 4 &1 9rgd g2
1. eI gfgadn
2. 3G HifleR

3. TefSed Uit faarur
4. [y BT TR

Options :
1.1
2.2
3.3
4.4



Question Number : 20 Question Id : 34212314857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Individual who live in a particular community develop distinctively patterned systems of
L. Information distribution
2. Media ownership
3. Media marketing
4. Information imperialism

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212314857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U oI Tegery e ol et eafeeal o e o © o 4 ot egw U] et orifera
fao i 81 ofel 62

1. G faeRT
2. Hifsr w@iffd
3. Wit fquur

4, qd-il <lHleddlq

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212314858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Two persons X and Y invested 15,000 and 20,000, respectively, in a business. At the end of
the year, they share the profit in the ratio of 3:1. If X has invested his money for the whole year,
for how many months Y has invested his money?

1.3

4.4
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212314858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&1 TGl X AR v < U oaw H R 2 15,000 3R 2 20,000 1 e foan| au & 3iq |
I Y Pl 3:1 B STt | e foran| 9 x 3 o e Bl FHT R b feru foar g at y
3 A B Y e AR o fau fa €

1.3
2.6
3.5
4.4

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212314859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain code language A is coded as Z, B is coded as Y. C s coded as X, and so on. How
‘PERFECT’ will be coded in that language?

1. KVIUVXG
2. KVIVUXG
3. KVIUVGX
4. KVUIVXG

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212314859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T @ HWI T A DI 2 &Y Hpedg (b1 TS, B Pl Y & ¥ 1 dess [T g,
B X T T hds (51T g AR SHITHR 3T Heds il T g1 Iad ¥ |
PERFECT" Pl ¥ B (g1 ST

L. KVIUVXG
2. KVIVUXG
3. KVIUVGX

4. KVUIVXG

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212314860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A sum of money becomes 34800 in 2 years and ¥ 42,000 in 5 vears at simple interest per
annum. Find the rate of interest and the sum of money respectively

1. 6%, T 40,000
2. 7%, T 30,000
3. 8%, 230,000

4. 5%, T 35,000

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212314860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U YR 1 QYR ST 63 TR 2 a4 H 2 34800 3R 5 34 H 242,000 81 ST 5| oA
T & d 4RI J1d DI

1. 6%, 40,000
2. 7%, 2 30,000
3. 8%, 3 30,000

4. 5%, 35,000

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212314861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What number would replace question mark (?) in the series given below?
1,7,16,28,43,61,827

1. 102

[

. 143
3. 106

4. 110

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212314861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfaRad 4@ o ugdarEs &g (2) &1 SH 9 G uidwiiud e

1,7, 16, 28, 43, 61, 827

L. 1

[

. 143
3. 106

4. 110

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212314862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In an examination, average marks of six students is 50. However, during cross checking of the
papers, it is found that the marks of one student has been misread as 48 instead of 84. Find the
correct average marks of the students.

152
2.54
3.56

4.8
Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212314862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U WRie ¥ B¢ faaiial o Jied 3ie 50 | It U1 1 O: i e o 7 i U
faeef & ofh] I 84 o W W Telelt 4 T feran 7 o1 | ferrfeat oo g 3t o 1l
DI

1.52

3.56

4. 58
Options :
1.1
2.2

3.3
4.4

Question Number : 26 Question Id : 34212314863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which informal fallacy is committed in the following statement “Famous actor Jimmy Pecker has
said 1n an interview that astrology s a real science, therefore scientists now must acknowledge
that astrology is actually a science."?

1. Appeal to Inappropriate authority

2. Red herring

3. Strawman

4. Appeal to Ignorance

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212314863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfeiRad e H I SIS b - 19 62
<TG SAHAT o U A T TYTHR H $gl g b S foqH U ardfd fag .
SR AID! B1 3(G%0 HH o1 1T fob e fagH ardfod &0 9 U fagr €1

1. TG TPR U 3G
2. YIHE Udhd (38 2T

3. 919 1 el (RTEH)

4. WIS e

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212314864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are subalternate as per traditional square of opposition?

A. All plants are green organisms

B. No plants are green organisms

C. Some plants are not green organisms
D. Some plants are green organisms

Choose the correct answer from the options given below:

1. Aand D only

2.Band D only

v

3. Aand C only

4. Aand B only

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212314864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAfeRad ® O 19 Y- 3y & URMRE 37 & 3Ulfyd g2

A. Gt Uy gRA g €|
B. Bl H1 U1y gRd Siid 181 §|
C. $9 UIqY gRd Sild gl 3 |
D. $% UlgY gRd Sild |
I feu U 9 el § U T 3R &1 994 DIfSIU:
|.®ad A 3R D
2. Hdd B 3R D
3. hdd A 3R C

4. Hdd A 3R B

Options :




1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212314865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent?

A. All cats are carnivorous animals

B. All non-carnivorous animals are non-cats
C. No cats are non-carnivorous animals

D. Some carnivorous animals are cats

Choose the correct answer from the options given below:

1. A. B and C only

[

.B, C and D only
3.A. Cand D only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212314865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafafad # 9 o118 $y difhd U 9 Ad 62

A. Tt fafcerat e o €|
B. T4 TR - igRI U R - fafeedi g
C. By Yl faeedl TR - AiAeRI uxy gl ¢
D. $% Uil U fafcerdi B

A fGu e fasel & 9 HgT IR D1 9G1 BT
1.HId A, B3R C
2. $HddB, C AR D
3.PdA A, C 3R D
4.Had C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212314866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement “all lions are carnivorous animals” is given as true which of the following
statements can be immediately inferred to be false?

A. No lions are carnivorous animals

B. Some lions are carnivorous animals

C. Some lions are not carnivorous animals
D. Some carnivorous animals are lions

Choose the correct answer from the options given below:

I.Cand D only
2. Aand C only
3. Aand B only

4. B and C only



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212314866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 39 e ] 2R IR U= ¢ 1 U o U 4 T T € ol e H ¥ o
G/ BU BT 3T & T 1 dleplfcrd S ol off T 7

A % TR AR R e ¢
B. §8 T AR TR ¢l

C. 39 W AWK T T3l ¢
D. T8 HiTgR T R ¢

i U fodedl 4 Y 9T SR P 99 DI
1. Badc 3R D

2. HIdA IR
3. Hdd A IR B
4, HaAB AN C

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212314867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



As per classical Indian school of logic (Nyaya) which of the following fallacy is committed when
the middle term is too wide?

. Anupasamhari
2. Badhita

3. Sadharana

4. Asadharana

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212314867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QT HRTY T - 7 (A7) & 3R S He UG Sfcfiies fogd gid1 ¢ f 99
fafeiRad H T I dd - QN giell §2

1. SRR
2. 911

3. IHRY

4, YR
Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212314868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Consider the following snapshot of MS-Excel worksheet:

A B E D
17|Day Quantity | Sales Amount (3)
18| Monday |1 234
19| Tuesday |3 144
20| Wednesday|6 367
21| Thursday |3 674
22| Friday § 1099
23| Saturday |3 233

In cell D18, the value returned by the function.
=SUMIFS (C18 : C23, B18 : B23, *“>3", C18: C23, “ >500") is

1. 1466

]

. 2140
3. 1773

4.26

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212314868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A B |c D
17|fe&A HET | faepg i (3)
18|9HarR |1 [234

19[HTgaR |3 [144

]
f—
LA
L)

-1
N

[
Ly
L
[t
Lad
L3

Cell D18 H 99 e gRT oAt d Hed a1 82
=SUMIFS (C18 : C23, BI8 : B23, “>3", C18 : C23, “ =500")

l. 1466

[

2140
3. 1773
4. 26

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212314869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of Computer Networks, which of the following best describes the transmission of a
message using packet switching?

. Data packets may follow different routes and may arrive at different times in different order.
2. Data packets will always follow the same route and arrive at the same time in the same order

3. Data packets will always follow the same route but could arrive at different times in
different order

4. Data packets may follow different routes but will always arrive at the same time in the same
order



Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212314869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR Hedeh| b Ge 1, The R 1 T &R e U & Hafaied § 9 S i
U Yl

1. ST U fir - ot AT o et © 3R o oo # ot el R U Wb

2. 321 b ST Uk B T i1l 31K U 81 6 ¥ U 61 90y R Ul

3. 51 Udve GHT U g1 A1) offl W P 6 A - ol vl R U e
4. 51 Udhe fird - fot o] of el § U o 0 Uah 1 6 H Udh 1 90 R U1

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212314870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about Number system?
1. The binary equivalent of the decimal number 57.625 1s 111000.101

2. (145)6 =(75) 10

L

. (1011), +(1001), = (20)10

4. (65)10=(220)s

Options:
1.1
2.2
3.3



4.4

Question Number : 33 Question Id : 34212314870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UITelt & Heel H 95 # 9 b G HY Tl ¢
1. G U7 57.625 DI fgaR ded 111000.101 B

[

: {145}6 = {75] 10
3.(1011); +(1001), = (20)1

4. (65)10=(220)s

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212314871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements about Read Only Memory (ROM) are correct?

A. The contents of the memory remain intact even when the power to the ROM is turned off
B. ROM is often used to store the start-up instructions when the computer is first switched on
C. As the ROM becomes full, the processor has to continually access the hard disk

D. ROM is a volalile memory

Choose the correct answer from the options given below:

I. Aand B only
2.Band C only
3. Aand C only

4 A B CandD

Options :
1.1
2.2
3.3



4.4

Question Number : 34 Question Id : 34212314871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

had U610 Wit (3R 311 TH) o Gelef ¥ gl § 4 b 4 6o Gl g2
A, 3R 31 T 1 faeyd Sgfd oG g W i i (@TR) 31 sfdde sied Bl ¢

B. 3R 3l T &1 TN G541 HUeR i Uged el el IR SR (RTE 310) 3 b
SRl & folt far oI g

C. 3R 31 TH & 4R 9 T WIEER 1 AR §TS %6 BT ST 1 gl o
D. 3R 3l UH U qleiic #id |

i fu U fadbel § Y @8t TR 6l 90 Dol
| A 3R B

2. HadB AR C
3. HaA AR C

4. A.B.C3RD

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212314872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about computers?

1. The quality of the pictures taken by a digital camera depends on its resolution, which is
measured In megabytes

2. USB stands for Universal Secure Bus
3. Microsoft Excel is an example of system software

4. The size of a computer monitor is measured diagonally across the screen

Options :



1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212314872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SO S U E G TP T HUH T

1. fofored R gRy @i T forfl 1 Turerd] 3 ofleg@ W R el g forgepr A
TeIge | fhaT 9T g |

2. 709 & &1 70 U § g YR o)
3. ISP 1T Tl e T 1 0 SaTavl ¢

4. SO AT & IR BT A0 EhiH B 3R - IR fabuiiy U d fhar s gl

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212314873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is used as a reference to measure the Global Warning Potential
(GWP) of a green house gas?

L. Carbon dioxide (CO,)
2. Methane (CH,)

3. Chlorofluorocarbon (CFC)
4. Hydrofluorocarbon (HFC)

Options :
1.1
2.2



3.3
4.4

Question Number : 36 Question Id : 34212314873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

P B3 T 1 dfiieh o HToda (oft Saey i) 1 1O i fere fferieaa | 3 foerant
T & wu H T fdar o g

L, IS ST 3MTIZS (CO,
2. A (cHy)

3 L&

3. FARTRRIBTEH (CEC)

4. FEGIRRIDISH (HEC)

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212314874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sustainable Development Goal 7 is related to.

1. Gender Equality

[

. Climate Action

(]

. Affordable and Clean energy
4. Quality Education

Options :
1.1
2.2
3.3
4.4



Question Number : 37 Question Id : 34212314874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tdd faerg deg 7 frad gwafid g2

1.1%1'11\% —d

[

. SIddrg gRad geeit e
eI 3R W Foll

(el

4. TOTGTIR D fRUe

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212314875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Toxic substances that damage kidneys are called as.

|. Hematotoxic

3

. Neurotoxic

(]

. Cytotoxic’
4. Nephrotoxic

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212314875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG I & Uga dTdl fawred gl &1 fafofad H 9 a1 gl o g
1. gHTCICiagd
2. Rl D
3. ggeleliqyd
4, ApICiaaD

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212314876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Montreal Protocol is related to protection of.
1. Biodiversity

. Glaciers

b3

(]

. Oceans
4. Stratospheric ozone layer

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212314876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



qifead Ureiald fhddb &1 H Traied g2
1. oId fafgerd

[

3. 9%

4. GHAIHS T 3ol WRd

Options :
1.1
2.2
3.3
4.4

[

Question Number : 40 Question Id : 34212314877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are examples of organic pollutants in water.

A. Salts

B. Pesticides
C. Dioxins
D. Bases

E. Pigments

Choose the correct answer from the options given below:

1. A, Band C only

(]

.B. C and D only

LS

.C.D and E only
4. B, C and E only

Options :
1.1
2.2
3.3
4.4



Question Number : 40 Question Id : 34212314877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U BTeS (D) UgRd! & Hgfafad § o 9 Jaeru g

A, cIdu]

B. DI AR

C. Srafifayq

D. &R

E. 3oid (OTHew)

A fGu U [ dl 7§ ¥ 3T SR &1 99 DT
. $dd A B AR C

2. HIA B, C IR D

3. $Had C. D IR E
4. HAAB. C AR E

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212314878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the Buddhist system of education higher education was placed at.

1. The first level

(i)

. The second level

(el

. The third level

4. The forth level
Options :
1.1
2.2
3.3



4.4

Question Number : 41 Question Id : 34212314878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

de [RI&T gaR] |, 3= e &1 fb g QI UR 341 7141 417

L UYH IR
AEGIRESH

3. A TR
4. 9qd &R

o]

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212314879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is a deemed to be university?

1. Perivar University, Salem

[

. Nagaland University, Kohima

(]

. Guru Ghasidas Vishwavidyalaya, Bilaspur
4. Gandhigram Rural University, Madurai

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212314879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

—a

[

(el

Question Number : 43 Question Id : 34212314880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is included among the core values promoted by NAAC (National
Assessment and Accreditation Council) among the institutions of higher learning

1. Framing National Education Protocols
2. Promoting religious education
3. Total Privatisation of education

4. Fostering global competencies among students and teachers

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212314880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T T U G 1T Heich ] 9 W] URe) gRT IR e Jreit A Yt 7o et H
1] 7 ¥ I wTferd g

L, BT 18T TeTeprct &

2, 4w e Haef

3. TRe 1 g el

4. ot @ fRieie! & ot Ay Seware &1 am

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212314881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true regarding Fort William College?

A. Its medium of education was English

B. Lord Wellesley taught here

C. Ishwar Chandra Vidyasagar taught here

D. It was here that Ishwar Chandra Vidyasagar Studied along with Subhash Chandra Bose

Choose the correct answer from the options given below:

1. A, Cand D only
2.Band D only
3.A.B,C.D

4. Aand C only

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212314881 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

1< faferay dieisl & Yo H 9 d I DIH 9 Y9 U8l

A. Tgl T21eq1 &1 A1y SiUSh o |

B. dls daidl 4 ggl &g fesar 1|

C. 3% T [eINR  Tgif 21ea19+ o o |

D. T8 W 3%4R 7 [GENITR A QYN T a9 & U1y 3(eqa faam T

I [Su U fddhedl § 9 TgT IR &1 994 DI
|.hdd A, C 3R D

2. HadB AR D

3.A,B,C,D

4. HITA R C
Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212314882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to National Education Policy 2020, which of the following universal human values
will be considered as an integral part of holistic education?

A. Truth

B. Sympathy

C. Righteous conduct
D. Nonviolence

E. Scientific temper

Choose the correct answer from the options given below:

l. C and E only
2.B,Dand E only
3.A,C.DandE only

4.A,B,Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212314882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



8T 218 Afd, 2020 P S7ER, FGHCTET # 9 H1-8 QreHifie A qedt &1 9 fen
o ST o Y ¥ TSR

A Hd

B. WEI3Hid

C. WER

D. 3ffed

. dRId A (AT

i fSU U fadhed! H § 5T IR 61 T Bl
1. HdC IRE

). BB, D IRE
3. BaqA. C.DIRE
4. BAAA B, C 3R D

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123584
Question Shuffling Allowed : No

Question Id : 34212314883 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension



The field ecologist has played a key role in shining the light on the species we love and admire.
They have also underlined why conservation should not be just about caring for a few charismatic
species-the cats, elephants, whales, or Olive Ridleys. It's also about knowing the value of
creatures many of us might consider annoying, even dangerous. For millennia, communities have
attempted to protect animals and plants for practical and spiritual reasons. However, for around
two centuries or so, an anthropocentric view of the world created an ecological discord of sorts.
Utilitarian ideas began to dominate attitudes towards nature, which often meant that even
conservation had a strictly commercial purpose.

Modern environmental consciousness is perhaps about six decades old. In India, organisations
such as the Bombay Natural History Society date back to the late [9th century and the endeavors
of hunters-turned-conservationists played an important role in underlining the value of several
species. But systematic efforts in mainstreaming ecology began much later and owed much to the
works of pioneers like Salim Ali and M Krishnan,

Sub questions

Question Number : 46 Question Id : 34212314884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Utilatitarian ideas started dominating attitudes towards nature about.

1. 2000 years ago

[

. 60 vyears ago
3. 100 years ago
4. 200 years ago

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212314885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Modern environment consclousness Is.

1. ~ 20 years old

(]

. ~ 40 years old

(]

. ~ 60 years old
4. ~ 100 years old

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212314886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Identify the charismatic species based on the information given in the passage.

A. Deer

B. Whales
C. Elephants
D. Dogs

Choose the correct answer from the options given below:

1. Aand B only
2. B and C only
3. Cand D only

4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212314887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct statements.

A. Conservations is all about caring for the species we love and admire
B. Communities have been living in ecological harmony for the last two centuries

C. Field ecologists have contributed to our understanding about the value of different species in
our lives

D. Salim Ali is considered as pioneer in India in the field of mainstream ecology
Choose the correct answer from the options given below:

I. Aand B only
2.Band C only
3.Cand D only
4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212314888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Communities have been involved in the protection of plants and animals for the last.

L. Several thousand years
2. 200 years only

3. 60 years only

4. only recently

Options :
1.1
2.2
3.3
4.4

Question Id : 34212314883 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 34212314884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SYAifaEre] fGaRi = Ha Udid & Uid AAIaREl R Yad g1 TR fdar 2
1. 2000 94 Ugdl

2. 60 9N Ugd

3,100 99 Ugd
4,200 9N Ugdl

Options :
1.1
2.2
3.3
4.4



Question Number : 47 Question Id : 34212314885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

yfd gafarvig I &:
1. ~ 20 94 QR

 ~ 40 99 QR

.~ 60 98 QR

.~ 100 Y QR

Options :
1.1
2.2
3.3
4.4

b2

(]

4+

Question Number : 48 Question Id : 34212314886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR | &l TS I & YR W SRS Yoliadl &1 UgdH Hifeie:

AT
B. &l
c. gt
D. T
I fu TTU fddhedl § O a1 3R &1 994 HISIU:

1. hdd A 3R B
2. HAdB 3R C
3.$ad C 3R D
4.Hdd A 3R D

Options :
1.1
2.2
3.3




4.4

Question Number : 49 Question Id : 34212314887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. $adB IR C
3.99qC IR D
4 $AIA IR D

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212314888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1




2.2

3.3
4.4

Indian Knowledge Systems
SectionId: 342123197
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123585
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212314889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The 'Stiksma Sarira' is not associated with which of the following ‘Kosas’

l. Annamavya Kosa

[

. Pranamaya Kosa
3. Manomaya Kosa
4. Vijianamaya Kosa

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212314889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

[

Question Number : 52 Question Id : 34212314890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Red’ 1n “a red pot’ is which of the following visayas?

1. Prakara

b3

. Samsarga

(]

. Visesya
4. Visayl

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212314890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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el

3. fage
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Options :
1.1
2.2
3.3
4.4

o]

Question Number : 53 Question Id : 34212314891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arthapatti is a valid Pramana in which of the following darsanas of Indian tradition?

I. Sankhya
2. Nvyaya
3. Vaisesika

4. Mimamsa
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212314891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fAgfeRad | U YR WU & T a=[ & eryfufxy 98 gHm g2

Bl

IR IEC]

[

Mg
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4. HigET

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212314892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per Advaita Vedanta *Avidya upahita caitanya’ is which of the following?

|. Brahma or Brahma
2. Kutastha

3. Jiva

4. Tévara
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212314892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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B
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[

4. 3R

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212314893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the statement *Adirantyena Saheta’ what does 3{U[ denote?

1. AZTIT

[

HTUT

(]

333
4. 33 3T

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212314893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.3

3

|
3 ATZ T

el

4. 33 3T

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212314894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Apastamba and Bodhayana siitras are associated with which veda?
L. Rk
2. Yajur
3. Sama
4. Atharvana

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212314894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. BP

AR

3. 9

4. Y[

Options :
1.1
2.2
3.3
4.4

[

Question Number : 57 Question Id : 34212314895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the Mahabharata which character 1s mentioned as an incarnation of Yama?

1. Bhima

2. Vidura

3. Safijaya

4. Yudhisthira

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212314895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HETHRA H (H9fcRad H U {68 U &1 90 & 3fddR & ¥ H 3fcaiad b1 1 g2
1. 4

2.1agY

3. oy

4. JRIR

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212314896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who narrates the story of the Mahabharata at the snake sacrifice?

1. Vaisampayana

b3

. Suka
3. Vyasa
4. Janamejaya

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212314896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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BGEI e

2. b
3. AN
4. HY

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212314897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A Zodiac is divided into, how many naksatra padas?

1. 96

b3

. 108
3,128

4. 144
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212314897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1896

g

. 108
3. 120
4. 144

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212314898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Express the year 2000 CE of Gregorian era in Salivahana-Saka era.

1. 2058

o]

1922
3. 2078

4. 1942
Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212314898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 2058

[

. 1922
3.2078
4. 1942

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212314899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which lunar month never becomes an adhikamasa?

1. Phalguna

3

. Asvina
3. Kartika
4. Magha

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212314899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L2615
S
3. DIfdd

—a

[

4. HIY

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212314900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the sum of Nirayana longitudes of sun and moon is 180°, what is the name of the phenomenon?
. Vaidhrta Vyatipata
2. Anuradha Vyatipata
3. Sarpamastaka Vyatipata
4, Lata Vyatipata

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212314900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 9Yd TfTd
2. 3FIYT AT
3. QYIRS SATfurd
4, T AT

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212314901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the Hatha Yoga Pradipika , which of the following mudras involves turning the
tongue into the kapala kuhara and turning the drsti to the middle of the eyebrows:

1. Jiana mudra
2. Maha mudra
3. KhecarT mudra

4. Jihva utthana mudra

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212314901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212314902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a part of the pariksa krama followed by an aytirveda vaidya?

|. darsana

2. sparsana
3. marjana

4. prasna

Options:
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212314902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. &3
2. TR
RIIEE

4. U4

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212314903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT one of the cikitsa catuspada of ayurveda?

1. Bhisak

2. Upasthata
3. Rogl

4. cikitsalava

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212314903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. fie

[

SURTAT
3.3

4. Faf @

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212314904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a characteristics of Kapha?

|. sthira-stable

b3

. §laksna- clear/smooth

(]

. guru - heavy
4. riuksa - drv

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212314904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. feR

[

% - YR

(el

4.8 - &

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212314905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The 10% century Vastusastra text “Mayamata” predominantly deals with which style of Temple
Architecture?

1. Vesara
2. Nagara
3. Dravida

4. Kalinga
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212314905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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| TR

2. AR

3.51ld8

4. Bfe
Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212314906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify from given places, where one of the rock cut cave temples “Ramanuja Mandapa™ exists?

L. Ellora

2. Aihole

3. Mahabalipuram
4. Elephanta

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212314906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212314907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following was the main purpose of erecting a stipa?

1. To worship

b3

. For Buddhist teaching

(]

. To keep Buddha's relics
4. A place visited by Buddha

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212314907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. ST 3 & feT
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Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212314908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A beautiful five storied step well was built in the memory of queen Rudradevi's husband. Identify
this stepwell from those given below.

1. Rani K1 Vav
2. Chand Baor1
3. Rajaon Ki Baoli

4. Adalaj Ni Vav

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212314908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. 131 Bl aae]

4. 3fce 1 a1
Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212314909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the total number of Suitras in Bodhayana- Sulbastitra?

1. 508

R
L
(]
[wa]

Question Number : 71 Question Id : 34212314909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 508

[
h
[
(]

4. 515

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212314910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sulbapradipika of Karavindasvamin is the commentary of which Sulbasiitra?

1. Bodhayana
2. Apastamba
3. Katyayana

4. Manava
Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212314910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HRId-EaHl BI Yoyt FafaRad # ¥ {6 Yoo o1 b1 52
1. ST
2. AU
3. BIARH
4. HI-d

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212314911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the number corresponding to the phrase “ sugusithrna (3 ||§ Y)” as per Aryabhata
system?

1. 17937020
2.7022388
3.2270838

4. 1972070

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212314911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 17937020

]

. 7022383
3. 2270838

4. 1972070

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212314912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the text Tantrasangraha, while obtaining 24 tabular Rsines, which is the phrase used to
represent the number 233.57

. Sardhadevasvi {Wm]

. Trigunanayanardha ﬁ?]mwﬁ}

: Sﬁrdhaguuatlyaévi[m?h]ﬂmf%)

4. Ardhadhikadevanetra(3{ W)

Options :
1.1
2.2
3.3
4.4

[e—

i

L]

Question Number : 74 Question Id : 34212314912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. ety
PAEUUEUEIL]
3. Gy
4. eI Ga

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212314913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify in which of the following texts does a person emphatically declares, “my father is a
physician?”

|. Rgveda
2. Atharva veda
3. Caraka samhita

4. Susruta samhita

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212314913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. TG

2, 3Yddg

3 T el
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Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212314914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ritika & Kakatundi are the two types of which of the following ?

l. Bronze

o]

. Carborandum
3. Brass

4, Steel
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212314914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. HIY

2. 98
3. Uidd

4. HId

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212314915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the text Rasarnava 7.30 it Is written:
"kimatra citram rasakam rasena.....

(v fed T T4

... karotl sulvam triputena kaficanam."

(@Rl e FIge B

Identify which one of the following options correctly captures the process' end result where
copper 1s roasted with calamine as per the quote above?

1. making alloy of copper namely bronze
2. purifying copper

3. Chemically transmuting coppper to gold
4. making brass

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212314915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. HIRT A 1Y B 1Y YT G

2. T BT G
3. 9% U WU &1 TS ©U Y daiaiu

4. lerel ST
Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212314916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yavaksara in the current context of chemistry corresponds to which one of the following
options?

I millet gruel
2. carbonate of potash
3. borax

4. calcium carbonate

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212314916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. fiyete gud
2. UIeT &l Hldi-e
3. R
4. DY HIEHC
Options :
1.1
2.2

3.3
4.4

Question Number : 79 Question Id : 34212314917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Hogajivi dance is associated with which of the following tribes?

1. Riang

-2

. Khasi
3. Mising

4. Rabha
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212314917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. feafm

RG]
3. fafgT

[

4. MHI

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212314918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following classical dance forms that are currently practiced involves balancing
oneself on a plate?

1. Kuchipudi
2. Bharatanatyam
3. Sattriya

4. Manipuri

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212314918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L PRI
2. I
3. 90 (W)
s

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212314919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many letter does the Khanda Jati Thampa Talam of carnatic music have in a single
"Avartana’?

5
2.7
3.8

4.10

Options:
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212314919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 10

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212314920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which classical dance form is associated with the state of Assam?

1. Manipuri

b3

. Sattriva
3. Odissi

4. Kathak
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212314920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. afifsdl

4. PP

[

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212314921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Xuvan Zang was a disciple of which of the following personalities at Nalanda?
1. Silabhadra
2. Nagarjuna
3. Vasuvandhu
4. Sangabhadra

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212314921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212314922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many Indian rivers did Magasthenes list?

120

b3

64

s
h
(s}

4. 36
Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212314922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 36

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212314923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Seylax of caryeinda was employed by which persian king to expolre the Indian ocean (according
to Herodotus)?

L. Cyrus I
2. Darius I
3 Xeres [

4. Darius- I

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212314923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. WX
2. SRTH]
3.V

4 SRTEI

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212314924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al- Beruni's (Tahqig-ma-li-li-Hind) is a work on which subject?

1. Indian Astrology

b3

. Indian Medicine

(]

. Indian Religion
4. Indian Geography

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212314924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

[

Question Number : 87 Question Id : 34212314925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify who among the following is not generally reckoned as a Siddha physician according to
the contemporary practitioners?

. Vyaghrapadar

2. Therayar {m)
3. Korakkar

4. Bhogar

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212314925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212314926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following Siddha physicians is believed to have travelled to Egypt, Arabia to
spread Siddha medicine in these places?

. Pulippani siddhar
2. Ramadevar
3. Pambatti siddhar

4. Agastyar

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212314926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212314927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

An officer is concluded to be corrupt as he was found with assets disproportionate to his declared
source of wealth. This is an example of which of the following pramana-s from vedantic point of

view?
L. pratyaksa
2. anumana
3. arthapatti

4. yukti

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212314927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. Uc&

2, IFAH
3. YR

4. e
Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212314928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The laksana of “prime numbers greater than two” is odd-ness (being an odd numbers) what is the
dosa 1n this statement?

. Avyapti
2. Ativyapti
3. Asambhava

4. Hetvabhasa

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212314928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. e
2. fefid
3. 3EYd

4, AU

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212314929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct chronological order of Vaisnava Acaryas

A. Ramanuja

B. Pundarikaksa
C. Ramamisra
D. Yamunamuni
E. Nadamuni

Choose the correct answer from the options given below:

l. E-B-C-D-A

I3

. A-C-B-E-D

LS

. D-E-A-B-C
4. E-C-B-A-D

Options :
1.1
2.2
3.3
4.4



Question Number : 91 Question Id : 34212314929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad dwig =Rl &1 9el HIardhd S 9182

T feu U g eul § O Ogi 3T &1 994 BIfSIU:

1. E-B-C-D-A

b

. A-C-B-E-D

L

. D-E-A-B-C

4. E-C-B-A-D
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212314930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following sages in chronological order :

A. Cyavana
B. Ruru

C. Bhrgu
D. Sunaka
E. Pramati

Choose the correct answer from the options given below:

1. A-B-C-D-E

(]

. B-C-A-E-D

5]

. C-A-E-B-D
4. C-A-D-E-B

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212314930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FEfRad BNl B BIehd T Tafd HifoT -

A. 2d-q
B. %%
C. Y4
D. YHdH
E. THd

AT QU U fadhedi H U U8l IR &I 994 HIIU:

1. A-B-C-D-E

(]

.B-C-A-E-D

[F¥]

. C-A-E-B-D

e

. C-A-D-E-B



Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212314931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following famous Indian Astronomers in chronological order:

A. Varahamihira
B. Brahmagupta
C. Aryabhata-I
D. Jyesthadeva
E. Paramesvara

Choose the correct answer from the options given below:
1. C-B-A-D-E
2.D-C-A-B-E
3. C-A-B-E-D
4. B-E-D-C-A

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212314931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FafRId Uit YR @TIeRl & SIeHbHH H Haiyd Sifo -

A. BMHARR
B. STglWd
C. 3He -1

D. W¥cd
E. IRHYR

AT fGU T fadeul § O gl IR &1 984 DIl

1. C-B-A-D-E

(]

. D-C-A-B-E
3. C-A-B-E-D

4. B-E-D-C-A
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212314932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the stars of Saptarsi mandala in order starting from the line joining the pole star.

A. Marici
B. Atri
C. Kratu
D. Vadistha
E. Pulatsya
Choose the correct answer from the options given below:
. A-B-D-C-E
2. C-E-B-D-A
3.B-D-C-E-A

4.E-C-D-A-B



Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212314932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GEEB N H3d & dRI I 4d TR Y (S dlail 361 Y S § FdfRyd Hiforu -
A. Tl
B. 3
C.%q
D. 913§
E. T
i U U fa@eul | U U5l 3R &1 994 DI
1. A-B-D-C-E
2.C-E-B-D-A
3. B-D-C-E-A

4. E-C-D-A-B
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212314933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following cakras in ascending order of number of petals associated with it-

A. muladhara
B. manipiira
C. ajia

D. visuddha
E. anahata

Choose the correct answer from the options given below:
1. A-B-D-C-E
2.C-A-B-E-D
3.C-A-E-B-D
4. A-B-E-D-C

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212314933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad 9! &1 378 Yag gall &1 BT & IRIET 6 H H HarUd Hifort -
A. AR
B. AR
C. Sl
D. [
E. 3ATgd
i fau U fadett # U Ug! IR &l 999 BT

1. A-B-D-C-E

2.C-A-B-E-D

3.C-A-E-B-D

4. A-B-E-D-C



Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212314934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following temples in chronological order
A. Jaina temples in Ranakpur
B. Dasavatara Visnu temple. Deogarh
C. Jaina temple in Mount Abu
D. Gangai Konda cholapuram temple
Choose the correct answer from the options given below:

l. B-D-C-A

2. A-B-D-C

LS

. C-A-B-D

4. D-C-A-B

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212314934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fFafaRad dieRi & BIarsHH H HdYd BIfT -

A. S HfER, TTHYR

B. GUEAR W] AR, ¢aTe
C. oI Hiex, Ade 3M1q

D. 5|3 dlidyRy HicR

A fou U fadedl © U O8] 3R &1 994 HINU:

l. B-D-C-A

[

. A-B-D-C

(5]

. C-A-B-D
4. D-C-A-B

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212314935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following words in the ascending order of numbers defined by them in the
Vajasaneyi Yajurveda Samhita.

A, Prardha
B. Anta

C. Nyarbude
D. Samudra
E. Madhva

Choose the correct answer from the options given below:
1.A-C-D-E-B
2.C-D-E-B-A
3. B-A-D-C-E

4. A-B-E-D-C



Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212314935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fraffRad el @1 37 g1 FARe T T & URIIH  3RIg A H T fRd BIfoit -
AR
B. 3(d
C. TG
D. g
E.HY
Al 6T U fodedl H T Tgl I &1 94 HifIw:

. A-C-D-E-B

2.C-DEB-A
3.B-A-D-C-E

4. A-B-E-D-C
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212314936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following in ascending order based on the number they encode under the
‘Katapayadi” scheme.

A. UHd- panjaba
B. Eaﬁ ¥- bihara

C. 7TTa- bangala
D. 3S- odisa
E. - kerala

Choose the correct answer from the options given below:
l.C-A-D-B-E
2.E-C-A-D-B
3.B-E-C-A-D

4. D-B-E-C-A
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212314936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FRTCIGT W6l 1 31 ZRI DTG, Il d Sid s G b R W SRIG!
7 T Saieyd Bifolt -

A U9
B.[9ER
C. 97d
D. ifga
E. 90

i feu T faepedt 7 9 Wl I &1 T ST
|.C-A-D-B-E
2.E-C-A-D-B
3.B-E-C-A-D

4.D-B-E-C-A

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212314937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following historical intellectuals in chronological order.

A. vagbhata

B. nagarjuna

C. cakrapani

D. vatsyayana
E. varahamihira

Choose the correct answer from the options given below:

1. B-C-A-D-E

(]

. C-A-D-E-B

5]

. A-D-E-B-C
4. D-E-B-C-A

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212314937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad videias digsifaal & Srarsd H HaiRid i -
A. GHT
B. TSI
C. dehuTfof
D. A
E. RIgafg
A< feu U f[ddhedl § T gl 3Tk &1 99 DI

1. B-C-A-D-E

(]

. C-A-D-E-B

[F¥]

. A-D-E-B-C

e

. D-E-B-C-A



Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212314938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following texts in their chronological orders.

A. Rasarpnava

B. Rasaratnasamuccava
C. Cakradatta

D. Rasaratnakara

E. Dhatukriva

Choose the correct answer from the options given below:
1. A-B-E-D-C

2. B-E-D-C-A

[

. E-D-C-A-B
4. D-C-A-B-E

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212314938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafaiad 94l &1 394 HIaDhd H HaRd DI -
A. 3HUIg

B. Xxik@ddH™Y
C. débad

D. TRATHI
E. Y1dfchar
T feu U g eul § O Ogi 3T &1 994 BIfSIU:

1. A-B-E-D-C

2. B-E-D-C-A

L

. E-D-C-A-B

4. D-C-A-B-E

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212314939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Ragas in the ascending order as per the Katapayadi Melakarta system
A. Kanakangi
B. Subhapantuvarali
C. Vakulabharanam

D. Kharaharapriya
E. Harikambhojt

Choose the correct answer from the options given below:
|.B-D-A-C-E
2.C-B-D-E-A
3.B-D-C-A-E

4.A-C-D-E-B



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212314939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dHeuaTie Heidhdl WUl & R Fafciad I B SR 9 d Faferd Hife -

A, DABAR

B. ORI
C. AR
D. TR
E. RIS

i feU T fadhedt T O gl G &1 9 DI
1. B-D-A-C-E
2.C-B-D-E-A
3. B-D-C-A-E

4. A-C-D-E-B
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212314940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following personalities in chronological order.

A. Baiju Bawra
B. Annamacharya
C. Amur Khusru
D. Haridasa

E. Purandara dasa

Choose the correct answer from the options given below:

1. A-C-B-E-D

(]

. B-C-D-E-A

5]

. C-B-E-D-A
4. E-D-B-A-C

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212314940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfRad gl &1 Sradnd o HaiRRyd Hifo -

A. S5 d14T
B. 3™
C. 3HR G|
D. gRay

E. X<y

AT QU U fadhedi H U U8l IR &I 994 HIIU:

1. A-C-B-E-D

2. B-C-D-E-A

3. C-B-E-D-A

e

. E-D-B-A-C



Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212314941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following persons in the chronological order of their visits to India.

A. Fa-Hien

B. Ibn- Batuta

C. Sung Hyun

D. Al- Beruni

E. Abdur Razzak

Choose the correct answer from the options given below:

1. A-C-D-B-E

[

.C-A-B-D-E
3.D-A-B-E-C
4. D-E-C-A-B

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212314941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frgfaRad il &1 3! YR UET & HIe-HhH H HdfRd Hifol -

A BIB-IH
B. g¢-al
C. gl-ggd
D. 3d-doHl
E. HegisllD

A feu U fad el # O Ol 3R &1 994 DHIfIu:

1. A-C-D-B-E

2. C-A-B-D-E
3. D-A-B-E-C

4. D-E-C-A-B
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212314942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Sanskrit Inscriptions of South East Asia chronologically:

A. Cangal Inscription

B. Padang Roco Inscription
C. Kedah Inscription

D. Ligor Inscription

E. Kalasan Inscription

Choose the correct answer from the options given below:
1. D-C-B-E-A
2. B-C-A-D-E
3.A-D-E-CB

4. A-E-C-D-B



Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212314942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

cléor.gd uRkm & FRiiRad S il & Bleimb H oaid Bife -

A. B 314G

B. UST ! 3AfHoRg
C. Bag g

D. faR 3ififera

E. S i

i 13T U fddhedl # U U5 3R &1 999 BIfC:

1. D-C-B-E-A

2.B-C-A-D-E
3.A-D-E-C-B

4. A-E-C-D-B
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212314943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which 1s the correct order of appearance of the following entries in the Purusa Sukta?

A Rk

B. Virata
C. Sama
D. Yajus
E. Candra

Choose the correct answer from the options given below:
. A-B-C-D-E
2.C-A-B-D-E
3.B-A-C-D-E
4. A-D-C-B-E

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212314943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oY Yot H FHARI Ual 1 95! Sceiabd Bi- Il g2

A BD
B. fd1e
C.YH
D. 49
E.dg

AT QU U fadhedi H U U8l IR &I 994 HIIU:

1. A-B-C-D-E

(]

. C-A-B-D-E

[F¥]

. B-A-C-D-E

e

. A-D-C-B-E



Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212314944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following gunas does *Jala” have as per the Vaisesika philosophy?

A. Rupa
B. Sankhva
C. Dravatva
D. Gurutva
E. Jnana

Choose the correct answer from the options given below:
1. A, Cand D Only
2. A, B, Cand D Only
3. Aand C Only
4. A, D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212314944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IRMP <31 P R S A FERd A I I 8 &

A=Y
B. &1
C. «dcd
D. ¥
E. 34

- fau MU fad et # I Igl STk B 98 BIfoIT:
1.Hdd A, C 3R D

. Hdd A, B, C 3R D

. Had A 3R C

4. HIAA. D 3ARE

Options :
1.1
2.2
3.3
4.4

(]

(]

Question Number : 107 Question Id : 34212314945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are “Drk padarthas in Advaita Vedanta?

A. Pramana
B. Pramatr
C. Pramiti
D. Bhita

E. Bhautika

Choose the correct answer from the options given below:

1. C, D and E Only

(o

.A. B and C Only
3. A, D and E Only

4. A, B and D Only



Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212314945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Agd derd H T ygr fFifea B a e 9 g2

A. UHIUT

B. UATJ

c. ufafa
D. Hd

E. Hifd®

A feu U fadhedl © U O8] 3R &1 9894 BHIU:
. hdd C.D3IRE

Bhdd A, B3R C
" Hdd A, D 3RE
4. HAd A.B 3R D

Options :
1.1
2.2
3.3
4.4

[

[

Question Number : 108 Question Id : 34212314946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are Vrddhis?

A S
B.U
c. 3l
D. 31
E O

Choose the most appropriate answer from the options given below:

1. B. D and E Only

(]

. A, Cand D Only
3. A, Band E Only

4. Aand D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212314946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fFafRad A Y dH-aH aufgis g

A H
B.U
C. 3l
D. 31
ER

- fau MU fad et # I Igl STk B 98 BIfoIT:
1.Hdd B, D 3R E

HAd A, C3RD

. Had A, B 3R E

4. Hdd A 3R D

Options :
1.1
2.2
3.3
4.4

(]

(]

Question Number : 109 Question Id : 34212314947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are synonyms of Prthvi as per the Nighantu associated with Nirukta

A. Gauh
B.1la

C. Nt
D. Barhi
E. Vyoma
Choose the most appropriate answer from the options given below:
[.A, B, CandD Only
2.C,Dand E Only
3.Band D Only

4.A,B,C,D,E



Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212314947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gdl & T eg FEfarad § 9 &F J 82
AT
B. 3 (Ila)
c. FEsld
D. dfe
E. OH

- feu e fas et # 9 Fg1 IR &1 99 SifeT:
1.Hdd A, B, C 3R D

HAd C, D 3R E

$Hdd B IR D

4. A, B, C,DE

[

[

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212314948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the terms denoting durations longer than 1 vear (365 days) in Indian astronomy.

A. mahayuga
B. manvantara
C. nadika

D. kalpa

E. kala

Choose the correct answer from the options given below:
[. A, Band D Only
2.B.C and E Only
3.A, Cand D Only
4. A, D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212314948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YR eI 8 1 8 (365 16 ¥ 31 Bret 31af¥l &1 Gfed P ared Uel ol fafgd
DI -

A. HRIgT
B. H-d-®

c. S
D. &Y
E. Pl

el foq g facheut H 9 We1 IR &1 T B,
1. $aT A, B3R D
2. HaAB, C N E
3. A, C HRD
4. 590 A D IRE

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212314949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aryabhata-I in his Aryabhatlyam mentioned which of the following.

A. Earth 1s round.

B. Neptune.

C. Earth rotates about its own axis from West to East.
D. Earth moves in an elliptical orbit

Choose the most appropriate answer from the options given below:

1. Aand B Only

(o

.Aand C Only

[FS]

.Aand D Only

4. C and D Only



Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212314949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y - 19 U Sy o fFgiferd o U fod qef &1 Ieeid fban g 2
A. G T g
B. T
C. Jedt (0 3 TR UfET 9 gd gl g
D. J! Y qIHR Hefl H 7fd axdl ¢
i fGu U fadhedl ® 9 Tt IR I 98- DI
|.Hdd A 3R B
2. Had A AR C
3. Had A IRD

4. Hdd C AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212314950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The season Grisma is connected with which of the following as per taittiriya samhita?
A. Sukra
B. Suci
C.Urja
D. Tapas
E.Isa

Choose the correct answer from the options given below:
I. Aand C Only
2. Aand B Only
3.Band C Only
4. D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212314950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

diRTar digdl & AR Uiy B FHfciRgd | 9 fb 9 gdfed 8o
A D
B. M
C. 3ol
D. dUYg
E. SN
4 feu 7T f[dd el /U U8l IR &1 99 DI
I.hdd A 3ARC
2. Hdd A 3R B
3. HddB AR C

4.HadD 3R E




Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212314951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the Yoga siitras of Pataijali which of the following are to be used to achieve “citta
vrtti nirodha’™?

A Karmatyaga
B. Abhyasa

C. Ahimsa

D. Vairagya

E. Satyam

Choose the correct answer from the options given below:

I. C and E Only
2.Band D Only
3. A, Dand E Only

4.B.Cand D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212314951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



elstfel I & SR farel g 14 o forw Fmferfear o 9 fetept v fopa i 2

A SHAM
B. Y
. el
D. R
E. XIdH

el feU 0 faeeal # U W1 ST &1 95 DI
1. el ¢ AR E
2. BadB D
3. %0 A, D IR E
4. HIqB, C 4R D

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212314952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are variants of samadhi?

A. Savitarka
B. Savicara

C. Nirvitarka
D. Nirvicara
E. Niruddha

Choose the correct answer from the options given below:

1. C and D Only

(]

. C.D and E Only

5]

. A and B Only

4. A, B, Cand D Only



Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212314952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qafy & A veR FEfiea d T 9 82

A feu U fadhedl © U O8] 3R &1 9894 BHIU:
|.dhad c AR D

hdd C,D 3RE
Hdd A 3R B
4. HAA A, B, C 3R D

Options :
1.1
2.2
3.3
4.4

[

[

Question Number : 115 Question Id : 34212314953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which animals listed below are depicted on the Sarnath Ashokan pillar?

A. Buftalo
B. Tiger

C. Horse
D. Elephant
E. Lion

Choose the correct answer from the options given below:

1. A, B and C Only

I3

. B, C and D Only

T

.C.Dand E Only
4. A, D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212314953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YRATY 3=11$ WY R Fgfefad 0 9 &4 9 g [ g
A 49
B. 1Y (dTH)
C. 31Y (413

D. g4t
E. IR

- feu T fdsh el # ¥ Fgl IR Dl 98 DI
1.hdd A, B3R C

Had B, C 3R D

. Had C, D 3R E

4. HIAA. D 3ARE

(]

L]



Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212314954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Nagara style temples, find the elements of Sikhara from given below.

A. Kalasa

B. Bija puraka
C. Amalaka
D. Jagati

E. Vedibandha

Choose the most appropriate answer from the options given below:
1. A, Band C Only
2.B, C and D Only
3. A, CandE Only
4. A. B and D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212314954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AR ell & ARl | < fad T8 RRR & ol ol f[Hfgd pifse -

A HAY
B. SR
C. HdAH
D. SHTfd
E. dfcdy
T feu U g eul § O Ogi 3T &1 994 BIfSIU:
. hdd A, B3R C

2. Hdd B, C AR D

3. HAdd A, C 3R E
4. BAAA. B3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212314955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following are names of the fifteen day-times of the fortnight when the moon is
in its waxing phase, as per taittiriya samhita?

A. Janada
B.Ira

C. Vasiya
D. Ayata

E. Piirayanti

Choose the correct answer from the options given below:

[.A,Band C Only
2.A.Cand D Only
3.B.D and E Only

4.C,Dand E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212314955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



dfeig gl b SR Yo Ul o Usig el 1 ofafl & 1 Faifbd H 8 dHa g
A. VG
B. I
C. 94
D. 34
E. R4
1< feU U fadhedl H T g SR B 997 Dift:
|.$hdcd A, B3R C

) Hdd A, C AR D
3, Hd0 B, D IRE
4§99 C.D AR E

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212314956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the Sadratnamala, which of the following are equivalent in weight measure?

A. 400 Palas
B. 1600 Palas
C. 1600 Karsas
D. 400 masas

Choose the most appropriate answer from the options given below:

. Aand B Oly
2. B and D Only
3. Cand D Only

4. Aand C Only

Options :



1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212314956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YTl & IR HEfeiRad § 9 oH YR 319 & 94 g2

A. 400 TeTq
B. 1600 JaY

C. 1600 HHY
D. 400 HTHY

41 fau U fam el © T 9gl IR &I 99 IS
. Hdd A 3R B

2. Hdd B 3R D
3. $dd C 3R D
4. Had A AR C

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212314957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following entries refer to the types of tin according to rasaratnasamuccaya?

A Kadaram (P SNH)
B. Bhramakam (YIH®DH)

C. Khuraka ()
D. Misra (%)

E. Kuntham ($USH)

Choose the most appropriate answer from the options given below:

I. Aand B Only
2.Dand E Only
3.Cand D Only

4. A.Band C Ounly

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212314957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TRAYTY & YR (fdRed § ¥ o & YoR! &1 gfad $3 91 U6 S 4 g2

A BERA
B. YHSH
C. R
D. 7Yy
E. $U6H

Hid feu U fawedl H U TE! W B 981 HIIT:
|.hdd A 3RB

). H9dD IR E
3.99d C AR D
4 BAA A, BIRC

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212314958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to rasaratnasamuccaya which of the following are types of iron?

A. Kharam {7@_\‘?}
B. Saram (9R)

C. Sauviram {W}
D. Dravakam(gIddH)
E. Sahajam (HgvlH)

Choose the most appropriate answer from the options given below:

1. A, Band D Only
2.C,D and E Only
3. A, Band E Only

4.B. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id
Correct Marks : 2 Wrong Marks : 0

: 34212314958 Question Type : MCQ Option Shuffling : No



TRAYH & AR dig & UHR Fgiidd § ¥ o 9 g2
A TR

B.9R

C. gidRy

D. gladh

E. Hgulq

AT QU U fadhedi H T U5l IR &I 99 HIIT:
1.$dd A, B3R D

2. Had c, D IARE
3. $dd A, B, 3R E
4. HIAB.C 3ARD

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212314959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following carnatic melakarta ragas have a “Prati Madhyvamam’.

A. Sivapantuvarali

B. Mecakalyani

C. Dhirasankarabharanam
D. Kamavardhini

E. Kharaharapriya

Choose the most appropriate answer from the options given below:

1. A, B and D Only
2. C.D and E Only
3. Cand E Only

4. A, B and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id
Correct Marks : 2 Wrong Marks : 0

: 34212314959 Question Type : MCQ Option Shuffling : No



fafaiRad d-ied Heddl 0T § 9 fhad -ufd gy gidr g»
A. FgugaRifa
B. Hddedull
C. HRYBIUIOY
D. HIHAIYHT
E. g fuan

AT QU U fadhedi H T U5l IR &I 99 HIIT:
1.$dd A, B3R D

2. Had c, D IARE
3. $hdd C AR E
4. had A B3IRE

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212314960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following talas have 10 beats in an Avartana?

A, Eka

B. Jhap

C. Sual

D. Dhamar
E. Keherva

Choose the correct answer from the options given below:

1. A, Cand D Only

(o

.A. B and E Only

5]

. B and C Only
4. C and D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212314960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffiRad o § f d1el & Uade rad4 & 10 AT gidl 8
A Ud
B. A4
C. Jd
D. ¥HR
E. dhgdl
AT QU U fadhedi H U U8l IR &I 994 HIIU:
1. $dd A, C IR D
Hdd A, B3R E
HAd B 3R C

4. ®dd C AR D

(]

L]



Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212314961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following are children of the legendary “Ustad Allauddin Khan'?

A. Ali AKbar Khan
B. Annapurna Devi
C. Vilayat Khan

D. Shujat Khan

E. Usad Amir Khan

Choose the correct answer from the options given below:
1. Aand B Only
2.B.Cand D Only
3.C,D and E Only
4. A, Cand D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212314961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g 35S Acar3e Wi &l U FEified # J SH g2

A. 3l 3pa @l

B. 3HYUT &dl
c. f[adaga @l

D. J[ETd Wl |
E. &G JHR @l

- fau MU fad et # I Igl STk B 98 BIfoIT:
1. hdd A 3R B

Hdd B, C 3R D

. Had C,D 3R E

4. BT A, C 3R D

Options :
1.1
2.2
3.3
4.4

(]

(]

Question Number : 124 Question Id : 34212314962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following were Greek envoys to India in the Mauryan period?

A. Megasthenes
B. Deimachus
C. Dionysues
D. Dioclorus

E. Eratosthenes

Choose the correct answer from the options given below:

1. A, Band C Only
2. A.Cand D Only
3.A.Band E Only

4. A, D and E Only



Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212314962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HSTEH YR § g gd Fafiad § 9 o 2o
A, HIRERN

- feu e fas et # 9 Fg1 IR &1 99 SifeT:
1.hdd A, B3R C

HAd A, C3RD

HAd A, B 3RE

4. HId A, D 3R E

Options :
1.1
2.2
3.3
4.4

[

[

Question Number : 125 Question Id : 34212314963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



To which all countries did Asoka send his emissaries to spread Buddhism?

A. SRILANKA
B. GREECE

C. INDONESIA
D. CHINA

E. THAILAND

Choose the correct answer from the options given below:

1. A, B and D Only
2.B. C and D Only
3. A. B and E Only
4. A, Cand E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212314963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dlg 4H & TR & o 3l = FafcRad # 9 foo <2t # 30 gd el 2
A. %ﬁ?iﬂﬂ
C. ‘grusﬁfw
E Uﬁﬁﬂg
el U U fgehett # ¥ el IR 1 944 D0
1.Hdd A, B3R D
2. $dd B, C IR D
3. 9ad A, B RE
4, Dl A, C AR E




Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212314964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII

A. | Vyasthi Stiksma Sarira | 1. |Virata

B. |Vvasthi Sthila Sarira | II. |Linga

C. | Vyasthi Karana Sarira | IIL. | Manusyadi Sarira

D. |Samasthi Sthiila Sarira| IV. | Jidna

Choose the correct answer from the options given below:

1. A-I. B-IV, C-III, D-II

(]

. A-II, B-III, C-IV, D-1

[F5]

. A-IITL B-1V, C-11, D-1

4. A-I1, B-1V, C-1, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212314964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

Tl 1 T 11
AR YA RR | 1 |fave
Iy /A WWRR | 1L |

o1y SR TRR | I | A0S IRR

UMY RE RR | IV, [
i fou U fadedl § U gt 3R &l 994 SIS

1. A-I. B-IV, C-III, D-II

Ol0|W]|»

[

. A-II, B-TII. C-IV, D-I
3. A-IIL, B-1IV, C-11, D-1

4. A-11L, B-1IV, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212314965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-I1

LISTI LISTII
Potter's wheel :: pot I. |Samavayi Karanam
th.l‘ead e Clﬂ'th IT. !_St Asalnat,.?ﬁ}.ri Kﬁrallaln

Color of thread :: color of cloth | III. | pnd Asamavayi Karanam

SITRIEIE

Union of threads :: cloth IV. | Nimitta Karanam

Choose the correct answer from the options given below:

1. A-III, B-II, C-IV, D-I

I3

-A-IV, B-III, C-1, D-1I

L

. A-IV, B-1, C-II, D-1I

4. A-1, B-111, C-11, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212314965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse
g 1 GGLbl

PIER D1 TS :; °C I | 9HdTY PRUM
YT :: PUST IL | 94 AT SRUH
Y 1 - S D1 T | 111 | fgdlg sragard srum
YITl BT AN :: US| V. | i dRomy

I feu U fadedl § U U6l SR &1 994 I

1. A-III, B-II, C-1IV, D-I

Ol0|W]|»

[

. A-TIV, B-ITI, C-I, D-II
3. A-IV, B-1, C-III, D-I

4. A-1, B-Ill, C-1I, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212314966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A. [Naciketa I. |Chandogya upanisad
B. |[Uma I1. |Kena upanisad
C. |Yajnavalkya| III. [ Katha upanisad
D. |Satyakama |IV.|Brhadaranyaka upanisad

Choose the correct answer from the options given below:

1. A-IIL, B-11, C-1, D-IV

(]

CA-ITL B-IIIL C-IV, D-I

[

. A-1, B-1I, C-1II, D-IV

4. A-I111, B-1, C-IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212314966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

T 1 T I
Aferhd I |Sierg 3ui-eg
3T I1. |- 39feg

gFded 111 |63 UG
FADTH IV. | §8aRUT® JUHug

I feu U fadedl § U U6l SR &1 994 I

1. A-III, B-II, C-1, D-1IV

Ol0|W]|»

[

. A-II, B-TII. C-IV, D-I

(5]

.A-L, B-IL, C-1IL D-1IV

4. A-IIIL, B-1, C-IV, D-TI

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212314967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Parasurama | I. |Pulatsya
Kubera II. |[Kasvapa

Taksaka III. | Jamadagni

SIRIEIES

Yama IV. | Surva

Choose the correct answer from the options given below:

1. A-IL, B-1, C-II1, D-IV

[

.A-IIL B-1, C-IL, D-IV

[

. A-I1, B-IV, C-II1, D-I
4. A-II1, B-1I, C-1V, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212314967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

T 1 I
A. |IRRRMH L |[Jesd
B. | &R II. |$=gY
C. |d&® 1. |STHef
D. |gH Iv. |34
1 fGU T fadetl # § el SR BT 99 BT

1. A-I1, B-1, C-III, D-IV

[

. A-IL B-L, C-TI, D-IV

(5]

. A-II, B-1IV, C-1II, D-1

4. A-IIL, B-11, C-IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212314968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Era Epoch in Gregory year
A. |Salivahana Saka | 1. {3102 BCE
B. | Vikrama Samwvat| II. |824 CE
C. |Kali III. | 58 BCE
D. [Kollam IV. |78 CE

Choose the correct answer from the options given below:

1. A-1V, B-1I, C-III, D-1

[

. A-1, B-II, C-1II, D-IV

[

. A-TIV, B-ITI, C-I, D-II

4. A-1I, B-1, C-1V, D-1II

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212314968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse
AT @ | L 310287,
fgpdaq | I [s24%.
EAR| I | 5839
FHieay V.| 78S

n

I fou U f[adedl § U U6l SR &1 994 B

1. A-IV, B-1I, C-III, D-I

Ola|wW]|»

[

. A-L, B-II, C-II1, D-IV

(5]

.A-IV, B-1IL, C-1, D-TI
4. A-11, B-L, C-1IV, D-1II

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212314969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Era Epoch in Gregory year
Karana I. |Adhikamasa

Purnimanta | II. |Sakuni

Ahargana |III. |Bhacakra

SIRIEIES

Zodiac IV. | Gaunamana

Choose the correct answer from the options given below:

1. A-1V, B-1, C-II, D-III

[

- A-IIL B-1, C-IV, D-II

[

. A-I1, B-IV, C-I, D-IIT
4. A-II1, B-1I, C-1V, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212314969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

T 1 T I
A. |0 I | 3ff¥ed™
B. |gftfmid 1. |5
c. |amfor L. | Y<a5h
D. |J1 9% IV, [TTorEe
14 feu U fadm el ¥ U I8t S9R &1 994 B

1. A-IV, B-1, C-II, D-III

[

. A-III, B-1, C-IV, D-II

(5]

. A-IL, B-1V, C-I, D-III

4. A-IIL, B-11, C-IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212314970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A. | mutra-vit I. |dhatu
B. |raga-dvesa II. |adharaniva vega
C. |rasa-rakta I1. |dharaniva vega
D. |mano-buddhi| IV. |antahkarana

Choose the correct answer from the options given below:

1. A-IIL, B-11, C-1, D-IV

(]

. AL BIII, C-I, D-IV

[

- A-IIT, B-11, C-IV, D-1

4. A-II. B-III. C-IV, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212314970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

A1 T I
T-faq [ 1|

AT - 28 1. | RO g7
T - Yo III. | YROg 9T

T -gig | IV | SR
I feu U fadedl § U U6l SR &1 994 I

1. A-III, B-II, C-1, D-1IV

Ol0|W]|»

[

. A-IL, B-III, C-I, D-IV

(5]

- A-IITL B-II, C-1IV, D-1

4. A-11, B-1II, C-1V, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212314971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A. |Rekha prasada| I. | A type of Nagara temple
B. |Phamsana I1. | Dravida style
C. |Pttha deola III. | A type of Sikhara
D. |Vimana IV. | A type of Odisha temple

Choose the correct answer from the options given below:

1. A-IV, B-1I1, C-II, D-I

(]

.A-IIL B-1, C-1V, D-II

[

. A-1, B-1I, C-1II, D-IV

4. A-1. B-1IV, C-II, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212314971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse
A1 gt 11

WUEE | L [TTR AR BT ISR
BT 1. |zfas et

fodsad |1 |RRR FTUSR
IGEIE] IV. | 3MfS20 Gl &1 U R

I feu U fadedl § U U6l SR &1 994 I

1. A-IV, B-1II, C-II, D-I

Ol0|W]|»

[

. A-III, B-1, C-IV, D-II

(5]

.A-L, B-IL, C-1IL D-1IV

4. A-1, B-1V, C-I1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212314972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Authors Texts
A. |Dvarakanatha Yajva| I. |Sulbastitravivrtti
B. |Sundararaja II. | Sulbapradipa
C. |Karka I11. | Sulbabhasya
D. |Gopala IV. | Sulbasiitrabhasya

Choose the correct answer from the options given below:

1. A-III, B-1I, C-IV, D-1
2. A-II, B-1II, C-I, D-IV
3. A-IV, B-1, C-III, D-TI
4. A-II1, B-1V, C-1I, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212314972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Gl 1 914 Gl 11 D1 el B

GROTY Uodl| 1. | YesgAfagi

G 1. | Yeswdia
EZ7 I1L. | YeaHTe

US| IV. | Yea g™
1 fGU T fad el 7 © el SR BT 99 BT

1. A-III, B-II, C-1IV, D-I

Olo|wW]|»

[

. A-II, B-TII. C-I, D-IV
3. A-IV, B-1, C-III, D-TI
4. A-111, B-IV, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212314973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A. |Silver I. |Pigeon colored flame
B. |Tin II. | Multi-colored flame
C. [Lead III. | White flame
D. |Diamond IV. | Pale tinted flame

Choose the correct answer from the options given below:

1. A-IV, B-1I1, C-II, D-I

(]

.A-IIL B-1, C-1V, D-II

[

. A-II, B-1IV, C-1, D-I1I

4. A-I. B-II, C-II1, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212314973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

T 1 T I
A. | T9d 1. |%Uig qufl saren
B. |fea 1. | &g quil sare
C. | 9 III. | %d Sardl
D. |ERT IV. | &fifUrd (HeyRaR) sardl
14 feu U fadm el ¥ U I8t S9R &1 994 B

1. A-IV, B-1II, C-II, D-I

[

. A-III, B-1, C-IV, D-II

(5]

. A-IL, B-1V, C-I, D-III

4. A-L, B-11L, C-1IL, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212314974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A. | rajavarta I. |cowrie shell
B. |varataka II. |vermillion from rocks
C. [navasara III. | lapis lazuli
D. |girisindtira | IV. |sal ammoniac

Choose the correct answer from the options given below:

1. A-IL, B-1, C-IV, D-III

(]

CA-IIIL B-IV, C-1, D-II

[

. A-III, B-1, C-1V, D-11

4. A-IV, B-1. C-II. D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212314974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

A1 Tt 11
REIGG] L |Prel

GRIGED IL | FgH & R
TR 1. | eTeiag /T

iR | 1v |9 smife
I feu U fadedl § U U6l SR &1 994 I

1. A-IT, B-1, C-IV, D-III

Ol0|W]|»

[

. A-IILL B-IV, C-1, D-II

(5]

AL B-1, C-IV, D-1I

4. A-IV, B-1, C-11, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212314975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A. |Bhortal I. |Goa
B. [Fugdi II. [Assam
C. [Nati IMI. | Tamil Nadu
D. |Kummi IV. |Himachal Pradesh

Choose the correct answer from the options given below:

1. A-IIT1, B-1I, C-IV, D-1

(]

. A-II, B-1, C-IV, D-III

[

.A-1, B-11, C-III D-IV

4. A-1. B-11, C-1V, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212314975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

T 1 T I
A. |HRad I |Tar
B. [Pl IL |3rgH
C. |Ffa I | e
D. [guht Iv. | fenm=e uew
- feu U fdeed! # 9 el IR &1 I8 DIIT:

1. A-III, B-II, C-1IV, D-I

[

. A-II, B-1, C-IV, D-III

(5]

. A-L, B-1I, C-III D-IV

4. A-1, B-1I, C-1IV, D-1II

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212314976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A. |Sohint I. |Vakulabharanam
B. | Ahir Bhairav II. |Mayamalavagoula
C. [Vasanta Mukhart| ITI. | Cakravakam
D. |Bhairav IV. |Hamsanandi

Choose the correct answer from the options given below:

1. A-1V, B-11, C-1, D-1II

(]

- A-IIIL, B-IV, C-I1, D-I

[

. A-IV, B-III, C-1, D-II

4. A-II. B-IIL, C-1, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212314976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

T 1 T I
A. |wifet I |gpenRum
B. [dfiRTxa | 1. |[AEmaEa
C. |a8dgERl |1 |IdidH
D. |1Ra IV. | 9=l
- feu Y fae et H ¥ Hel IR &1 99 IS

1. A-IV, B-1I, C-I, D-III

[

. A-IILL B-IV, C-I1, D-I

(5]

-A-TV, B-1IL, C-1, D-TI

4. A1, B-IIL C-1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212314977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A. [Madhyamavatt | I. |sadava- sadava
B. [Malahari I1. |sampirna
C. [Malayamarutam | ITI. | audava-audava
D. |Hemavatl IV. | audava-sadava

Choose the correct answer from the options given below:

1. A-III, B-IV, C-I, D-II

(]

CA-IIIL, B-I1L C-1IV, D-1I

[

. A-IV, B-1, C-III, D-II

4. A-11. B-1V, C-1, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212314977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

T 1 T I
[aEdl | 1 |9rsd-ursa
Aag I |&quf

Tagaredy | 1. | sfisa-3isa

n,

eHadl IV. | 3f5a-91Sa
I feu U fadedl § U U6l SR &1 994 I

1. A-IIL, B-IV, C-1, D-II

Ol0|W]|»

[

. A-IIT, B-II. C-IV, D-I
3. A-IV, B-1, C-III, D-I

4. A-11L, B-1IV, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212314978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A. |Ramakien I. |Malaysia
B. |Hikavat Seri Rama II. |Indonesia
C. |[Rama Chandra Kidung | ITI. | Cambodia
D. |Reamker IV. | Thailand

Choose the correct answer from the options given below:

1. A-I1, B-III, C-IV, D-1

(]

. AL BIII, C-I, D-IV

[

. A-IV, B-1, C-III, D-II

4. A-IV, B-1. C-II. D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212314978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

g1 gt 11
D L | gaifkmEn

feprad S IH | 1L |gSHRm
A T fgn | 111 | Seifsan

B IV. [UIgaiug
I feu U fadedl § U U6l SR &1 994 I

1. A-IT, B-1II, C-1IV, D-I

Ol0|W]|»

[

. A-IL, B-III, C-I, D-IV
3. A-IV, B-1, C-III, D-I

4. A-IV, B-1, C-11, D-III

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 342123586
Question Shuffling Allowed : No

Question Id : 34212314979 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Post-vedic Indians acquired a much more comprehensive detailed knowledge of animals,
particularly on connection with the study of medicine. The Caraka-samhita classifies all animals
into four main divisions: (i) jarayuja-born from the uterus (viviparous); (ii) andaja- born of an
ovum or egg (oviparous); (iii) svedaja or usmaja- born of moisture and heat, spontaneously or
asexually generated: (iv) udbhijva- born of vegetable organisms. An alsmost identical
classification occurs In the Susruta-samhita. But according to the commentator Dallana (tenth-
eleventh century), the divisions are not exclusive. For example, although bats are some varities of
cranes and herons fly, they are really viviparous. Similarly, among snakes th ahipatakas, a speies
for non-venomous colubrine snakes, are viviparous.

Caraka has also classified creatures according to their characteristics as follows: (a) krmi-
parasites found in living creatures; (b) kita- wingless insescts: (c) patanga- flying insects; (d)
ekasapha- solid ungulateanimals; (e) dvisapha- cloven footed animals; (f) mrga- herbivorous
animals: (g) kravyada- carnivorous animals; (h) évapada- dangerous beast of prey: (1) vyala- beast
of prey: (j) gomayu-creature with poisonous fangs or stingers: and (k) sarpa- snakes.

Sub questions
Question Number : 141 Question Id : 34212314980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If a wet spoon s used to dispense pickle from a jar, often the pickle gets spoilt in a couple of days
due to fungal growth, If Caraka considers fungi as animals, which of the following would fungus
be classified under?

. andaja

2. svedaja
3. udbhija
4. jaravuja

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212314981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following animals would Caraka classify under ekasapha?

1. donkey
2. hippopotomus
3. giraffe

4. camel
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212314982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following animals would Caraka, classify as dvisapha?

dog
deer
antelope
sheep
elephant

MmO nwp

Choose the correct answer from the options given below:

1. A, C and E Only

[

. C and E Only

L]

. B and D Only
4. B. C and D Only

Options:
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212314983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following animals would Caraka neither classify as ekasapha nor dvisapha ?

A cattle

B. horse

C. camel

D. rhinoceros
E. goat

Choose the correct answer from the options given below:

I. B and D Only
2. A, B and C Only
3.C,D and E Only
4. Aand E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212314984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
A. |jarayuja I. |scorpion
B. | andaja II. | bat
C. | gomayu I1I. | butterfly
D. |patanga IV. | king cobra

Choose the correct answer from the options given below:

1. A-IL, B-1, C-III, D-IV

[

. A-IV, B-1, C-1I, D-I1I

sl

AL B-IV, C-1, D-II

4. A-IIL, B-II, C-1, D-IV



Options :
1.1
2.2
3.3
4.4

Question Id : 34212314979 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 34212314980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e, U el 907 9 ol VR G 3R Feplel i1l ¢, 1 Wi Bibe (@) b HRY 3R
1.0 et 1 vra 81 Wil 61 3 TR B ol U A dl e ] (e ¥ § e
901l o ST il foan e

. 3{Usu
2, Wed
3. 3he
4. ORIt

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212314981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad O 9 {69 U &1 RS UGG & Fdid Iiidhd HId?
L. TGY

(Y [

2. TRAT 9IS]

3. foRE

4.3¢

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212314982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fraffad ¥ U fo ugs & IRe g% & =0 ¥ Iifldpd Hd?

A. 4 (P

B. fgvu

C. B (W)
D. 43

E. gl

- fau MU fad et # I Igl STk B 98 BIfoIT:
1.hdd A, C 3R E
2. had C AR E
3.%9d B 3R D
4. $HIdB, C AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212314983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



rfciad B 9 T U131 1 TR 1 ol UHW SR A 1 15900 & 0 § Ffehd ded?

+Td feu T fadedl H T g1 IR &1 901 DifolL:
| $dd B R D

). Bad A, B3R C
3. $a0 C. D 3INE
4 $ad A AR E

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212314984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse
A1 T I

A. |SRIgE I |fo=g
B. |30S9 II. |9HEs
C. [Ty II1. | et
D. |TdT IV. | /&7 SiaxT
I feu U fadedl § U U6l SR &1 994 I

1. A-I1, B-1, C-III, D-IV

[

.A-IV, B-1, C-II, D-III

(5]

. A-IL, B-1V, C-I, D-III

4. A-IL B-IL C-1, D-IV

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3

Sub-Section Id : 342123587
Question Shuffling Allowed : No

Question Id : 34212314985 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



Anatomy: Detailed study of the anatomy of plants was not possible in the Vedic period due to
lack of instrumental facilities. The study of their gross structure and features, however, advanced
to a considerable extent. In the rg-veda (V1.3.4), the wood of a tree (daru) is distinguished from
its softer outer part. The Taittiriya Sambhita consider the bark of a tree to consists of two parts, the
outer (valka) and the inner ( vakala). The Brhadaranyaka Upanisad (I11.9.28) compares a tree to
the human body and speaks of its leaves as hair; the outer bark as the skin; the sap as blood; the
inner bark as the flesh: the innermost layer of bark as the nerves; its wood as the bones; and its
pith as the marrow. The internal structure of a stem comprises the outer skin (epidermis and dry
bark) and the inner wood between which stands a soft tissue, the bast (inner and outer) and its
fibres. The wood encloses the soft pith. This is indeed a far more detailed description what we get
in Theophrastus who is regarded as the father of plant anatomy.

Sub questions

Question Number : 146 Question Id : 34212314986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage rgvedic people possessed advanced knowledge in which of the
following sub-field of botany?

l. taxomony
2. anatomy
3. morphology

4. pathology

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212314987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Wood of a tree is referred by which of the following terms is Rgveda?

1. vakala

[-2

. daru

3. taru

4. valka
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212314988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following sequentially while moving radially outward from the core of the system of
a plant/tree.

A. bast
B. daru
C. pith
D. valka
E. vakala

Choose the correct answer from the options given below:
|.B-A-C-D-E
2.E-A-B-C-D
3.C-B-A-E-D

4.C-B-A-D-E

Options:
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212314989 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Which of the following statements are not implied in the passage:

A. Rgvedic people had advanced knowledge of plant anatomy
B. What bones are to human is wood to the trees

C. The wood of a tree is referred to as daru in rgveda

D. Theophrastus acknowledge the upanisads

E. Upanisads were not as advanced as Theophrastus

Choose the correct answer from the options given below:

1. Aand E Only

[

. A, Dand E Only

L

.B and C Only
4. B. C and D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212314990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A. |pith I. |flesh
B. | inner bark | II. [blood
C. |valka IMI. | marrow
D. |sap IV. | skin

Choose the correct answer from the options given below:
1. A-III, B-1, C-1IV, D-1I
2. A-1, B-III, C-IV, D-II
3. A-II. B-1IV, C-1, D-III

4. A-IIL, B-11, C-1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Id : 34212314985 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 34212314986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR o SFER Fvdicdh AN - SRR o fhd 3U-6 H 3 I W 9 fean
1. dfffel
2. TR (FRR T
3. UM
4. AT

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212314987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fide 4 3¢ & HI§ B! Hgifhd § Y g U1 (Ue) Y fay{¥d fdmar Sirdn g
1. I
2. T
3.0F
4. d

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212314988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[l UTGU 1 o1 o this ¥ 3R1Y (B U H Sf dgd gu Hifchd Pl 3ehH |
IR BIfeTT -

A 9
B. qlx®

C.T
D. dedh

E. 3P
T feu U fadedt § U UE SR & 991 DIl

|.B-A-C-D-E
2.E-A-B-C-D
3.C-B-A-E-D

4. C-B-A-D-E

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212314989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafafad O 9 {1 arai 1 T giad 98 Har g 2

A. BIdE BIciE dT A Urey IRR & I 91 311 ST 4T
B. A4 &1 3Tl 9&ff & H1Y S AU G|

C. 574G 1 9& & DIY DI G Dol a1 5|

D. [AAIhey 5 Iufvel & WIHR 6 gl

E. 3UMNG f4aitheeyd & 9HH 39d ol 4|

T feu U g eul § O Ogi 3T &1 994 BIfSIU:
. hdd A 3RE

2. Hdd A, D AR E
3. HaddaB 3R C
4. $Hdd B, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212314990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

T 1 T I
A. |7 I [o=h
B. [d®BIE | I ¥
C. |aem TI1. [Tt
D. | 3T IV. |
14 feu U fddhedl 4 U I8l 39 &1 99 HIfSIL:

1. A-III, B-I, C-IV, D-II

[

. A-L, B-III, C-IV, D-II
3. Al B-1V, C-I, D-III

4. A-IL B-IL C-1, D-IV

Options :
1.1
2.2
3.3
4.4





